Stoichiometry Exam Review
Problems: SHOW WORK TO RECEIVE CREDIT

1. According to the reaction below, what is the mole ratio of aluminum sulfate to
aluminum chloride?

Alz(SO4)3 + % Bﬂ.Clz —> !rl BaSO, + 1 A1C13
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2. From the same equation, what is the mole ratio between barium sulfate and aluminum
chloride?

a) 2:1 b) 1:2 c) 2:2 3:2 \
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3. What conversion factor from the reaction below would you use to begin converting
4.56g of N, to moles of NH;  produced?
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4. How many moles of NH; may be produced from 1.20 moles of N, assuming that

hydrogen is excess.
N, + ’) H, — 1 NH;
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5. Calculate the number of moles of H, produced from 0.78 moles Ga and 1.92 moles
HC1? e o
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‘g How many moles of H,O, are required to react with 11.0 g of N,H, according to the
following reaction? e ——

Q' H,0, + \ N,H, —» 'L HNO; + 5 HO .
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7. Hovwgmany grams of S are formed at STP from the reaction of 6.80 g of H,S and
7.43 L SO, according to the following

tion? |
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8. Thin films of silicon, used in fabrication of electronic components, may be prepared
by the decomposition of silane.
What mass (in g) of SiHj, is required to prepare 0.2173 g of silicon?
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9. The reactign of 0.68 g of NH; with excess O, according to the following reaction

yields 0.98 g of NO. What is the ?ercent yield? M| V)
EZ NH; + 02—) Z NO + a H->0O
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10. A chemist combines §,32 g of C-H, and 12.2 g of oxygen. How many grams of
carbon dioxide are produced? 1 ww) ("L“‘Iv"' "‘
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What is the limiting reactant? 1 )2
How many gra@s excess reagent remain after the previous reaction? ﬂ, 1)"% (4“'2




Know the following terms:

stoichiome X \aﬁm\\i?bﬂw dl\m W OF

‘S\Abe\nta H%\'AM part W & veackim. ways %otgp\

percent yield W‘ . X 1002 q@ qd‘c\d .
Tneorehanl .

actual yield PRy PM a m DM. M man

:xmm:u&l‘* (voeoswied o&'\m in prabiem)

theoretical yield amom 0"' mm M* ‘“mu m vaen

olotained I an sxperiwen( cacmiatatl)

gram formula mass a\so "m af Mom, m M“ (i“ qm.‘d
0F ONe Mole OF A SWOSTCL

Law of Conservation of Mass mass .gnﬂ'» 0!’ atyms axe al m\'s

covservedin A ¥ chon.

Excess reagent a\so m.!wn as “'_w Wm? ™ ‘m'
Aok s NOT uSed up inan ecperinent.




Limiting reagent Q\SD

mtw

Mol-mol ratio ra“o o.‘. mm “ MS“
ob ouner, FvA UsingCoektic
omwm\ UN“ hows. |




